

a) According to the problem,  $\hat{e}_1^A$  is along the axis of the discs, and  $\hat{e}_1^* = \hat{e}_1$  initially. Therefore,

$$R(t) = e^{B T_3} e^{\alpha T_1}$$

Use  $\sum \omega_n^* I_n = R^{-1} \dot{R}$ . Then,

$$\dot{R} = \dot{\beta} T_3 e^{B T_3} e^{\alpha T_1} + e^{B T_3} \dot{\alpha} T_1 e^{\alpha T_1} \text{ and } R^{-1} = e^{-\alpha T_1} e^{-B T_3}$$

$$\therefore R^{-1} \dot{R} = \dot{\beta} e^{-\alpha T_1} T_3 e^{\alpha T_1} + \dot{\alpha} T_1 = \dot{\beta} \{ T_3 \cos \alpha + T_2 \sin \alpha \} + \dot{\alpha} T_1$$

$$\therefore \omega_1^* = \dot{\alpha} = \frac{d}{dt} (\alpha t) = a$$

$$\omega_2^* = \dot{\beta} \sin \alpha = \left\{ \sin(\alpha t) \right\} \frac{d}{dt} \{ b t + c t^2 \} = (b + 2c t) \sin(\alpha t)$$

$$\omega_3^* = \dot{\beta} \cos \alpha = (b + 2c t) \cos(\alpha t)$$

$$b) I_{\hat{e}_1^*} = \begin{pmatrix} \frac{1}{2} M R^2 & 0 & 0 \\ 0 & \left( \frac{M R^2}{4} + \frac{M d^2}{12} \right) & 0 \\ 0 & 0 & \left( \frac{M R^2}{4} + \frac{M d^2}{12} \right) \end{pmatrix} = \begin{pmatrix} I_1 & 0 & 0 \\ 0 & I_2 & 0 \\ 0 & 0 & I_3 \end{pmatrix}$$